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Notations :

CGPSC State Engineering Services Exam 25th April Shift 2

1.Options shown in green color and with % icon are correct.

7.Options shown in red color and with # icon are incorrect.

Question Paper Name:

Subject Name:

Duration:

Number of Questions:

Revisit allowed for view? :
Revisit allowed for edit? :

Number of Questions:

Question Number : 1
Correct: 2 Wrong : 1

SES GS Set 2 Actual

HES G5 Set 2

General Studies

50

Which Mughal empror was kenown as ‘Rangeela’ for hus style?

Options :

A # Alhar

B. ¥ Jahangir
C. %* Shahjahan

D. ¥ Aurangzeb

E. % Nuhammad Shah

Question Number : 1
Correct : 2 Wrong : 1

I I GHTE BT JHeT ST o (ol AT @ H T AT 417

Options :

A 2p

Question Number : 2
Correct: 2 Wrong : 1

www.upscstudymaterials.com


http://www.a-pdf.com/?wm-demo
http://www.a-pdf.com/?wm-demo

The third battle of panipat was fought between
Options :

A ® Babar and Alam Khan

B. # Humaym and Hemu

C. ¥ Marathas and Ahmed shah Abdali

D. *® Humayun and shershah suri

E. #* Akbar and Muhammad Adil Shah

Question Number : 2
Correct: 2 Wrong : 1

T ST ST e R i T o

Options :

A % R AT e @

B. ¥ gl ofK 2

C. ¥ WSt 3T EAS ATF ST
D. ¥ FARY 3T $RaE AT i

E ® sy sfiv gereg aiee 91

Question Number : 3
Correct : 2 Wrong : 1

Who were the first rulers of Delhi Sultanate?
Options :

A #® Afghan

B. ¥ Kushans

C. ® Hindus

D. ¥ Turks

E % Nughals

Question Number : 3
Correct: 2 Wrong : 1

Tl Hoadd o Ugof ATE® @i 407
Options :

A ® SUETI AT

B. ® gy &

c. ® Bgam

D. ¥ & #m

E ® ge @i

Question Number : 4
Correct: 2 Wrong : 1

www.upscstudymaterials.com
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Match columm [ with 11 .
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Column [(Events) Column 11 Year)
A Chauri chaura incident 11915
B. Dandhi march I11921

C. Gandhi's return from south Africa I11 1030
D. Quit India moment [V 1931

E. Second round table conference W 1042
Options :

A % A1 B-IL C-IIL D-IV, E-V

B. ¥ A-II, B-III, C-1, D-V, E-IV

C. % AL B-IV, C-1, D-V, F-II

D. ® AV, B-II, C-V, D-III, E-I

E # A-IL B-V, C-IV, D-1, E-III

Question Number : 4
Correct : 2 Wrong : 1

T TR T TR T 3 Emer i

VT ETE () Tt war (af)
A ST T weT fgYs

B. ST AR II. 1021

C. STET arkienT & TITeft & amret I11. 1930

D. 9RA SISt ATg o IV, 1031

E. ZET TTA HST qrHer V. 1942
Options :

A % A1 B-IL C-IIL D-IV, E-V
B. ¥ A-II, B-III, C-1, D-V, E-IV
C. % AL B-IV, C-1, D-V, F-II
D. ® AV, B-II, C-V, D-III, E-I
E # A-IL B-V, C-IV, D-1, E-III

Question Number : 5
Correct : 2 Wrong : 1

The 'Poorna "Swaraj Day' was observed first time on
Options :

A 26th January 1950

B. # 26th January 1948

15th August 1947

D. ¥ 26th January 1930

www.upscstudymaterials.com
E. % 15th August 1930 psestudy



Question Number : 5 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

P LI T R I Ugail el HATIT T
Options :

A % 26 T 1050

B. ¥ 2eff e 1943

C. ® 15¢f anTEd 1047

D. ¥ 26t ST 1930

E % |5df ammed 1030

Question Number : 6
Correct : 2 Wrong : 1

The "Champaran movement ” of mahatima Gandhi was for

Options :

A B Ilaintaining the vty of hindis and mmshms

B. % otrengthening civil disobedience movement
c solving the problems of Indigo worleers
D ® Opposing salt tax law

E * The security of rights of harijans

Question Number : 6
Correct: 2 Wrong : 1

HETCHT TITEIT 2T "SITCOT ST A" - @ oy e

Options :

A % Tergoft ofk THAATAT &7 TET @ g T
B. ® = T AE e @ Add

C. ¥ e afiert T TAeaTeTt T g

D. #® THE T BT DT T TS

E. % giet o Sl of gee oo

Question Number : 7
Correct : 2 Wrong : 1

Arrange the following states in correct chronical order of their creation in ndependent India
& Chhattisgarh

B. Goa

C. Jharlchand

L. Uttaranchal

Options :

A ®ADCB
B.Y B ADC
C.%¥ C.DAB
D ¥B CAD
E %D CBA

Question Number : 7
Correct: 2 Wrong : 1

www.upscstudymaterials.com
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B. T

D. I
Options :

Question Number : 8

Correct: 2 Wrong : 1

The "Tropic of cancer” passes through which of the following states?
Options :

A % Assam

B. * Ianipur

¢. ¥ Nizoram

D ® Magaland

E * Silddm

Question Number : 8

Correct: 2 Wrong : 1

vy T g TR 7 @ R T A B T 2
Options :

p ® 3

A
B * giomy
c. ¥ TrEmw
D. # qumens
E ® Tafgw

Question Number : 9

Correct : 2 Wrong : 1

The "Gulf of Mannar” is located in which of the following states?
Options :

A * Andhra Pradesh

B. # Orissa
c ® Tripura
D. ¥ Tamil Nadu
E % West Bengal

Question Number : 9

Correct: 2 Wrong: 1

TR & T vt 7 AT T Eer R g7
Options :

A % ey uEer

B ® Z54r www.upscstudymaterials.com
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D. ¥ FHa g
E * oam amer

Question Number : 10

Correct : 2 Wrong : 1

Which place in India receives lowest average ramnfall?
Options :

A ® Barmer (Fajasthan)

B. # Bilaner (Fajasthan)
c %] odhpur (Fajasthan)
D. ¥ Jaisalmer (Fajasthan)

E. * Pokhran

Question Number : 10
Correct: 2 Wrong : 1

WA H G € TG O eelel TH HTad aui gia i g7
Options :

A ® SEAT (TRTET)

B. * ST (T

C. % ST (e

D. ¥ JGeH T

E * i

Question Number : 11

Correct : 2 Wrong : 1

Which Indian state has the longest costal line?
Options :

A * Andhra Pradesh

B. ¥ Guwarat
C. ® Kerala
D. * Tamil Nadu
E % West Bengal

Question Number : 11
Correct: 2 Wrong : 1

oy AT =T T &1 T2 1T LT Had wEt a7
Options :
A ® ammudd

B. ¥ e
C ®
D. #* FifeAg

E * uiam amer

Question Number : 12
Correct: 2 Wrong : 1

The "silent valley" is located in which of the following states? )
.upscstudymaterials.com
Options :



A * Arinachal Pradesh

B. # Himachal Pradesh
C. ¥ Kerala

D. * Jammu & Kashmir
E. ¥ Uttar Pradesh

www.upscstudymaterials.com

Question Number : 12
Correct : 2 Wrong : 1

"Hgeie drt TRTeET Tal | & Tog § 60 27

Options :

A ¥ IEER U
B. ¥ TEHTER naar
c. ¥ T

D. ¥ Frg 3t Fafie
E ® Feuda

Question Number : 13

Correct: 2 Wrong : 1

Which of the following is the oldest mountain range in India?
Options :

A B Vihdlyas

mlryadr

Satrupas

D *® Himalavas

E ¥ Aravallis

Question Number : 13
Correct: 2 Wrong : 1

URA H el [T Ueid ST gl ad # & i g7
Options :

A % T

B. # smEdr

C. ¥ mayzr

D. ¥ TEamwe

E ¥ aRTeet

Question Number : 14

Correct: 2 Wrong : 1

Which of the following rivers malces an estuary?
Options :

A ® Satle

B. % Kaveri

C. * Kristma

D. ¥ Narmada

E * Yamuna

Question Number : 14 www.upscstudymaterials.com



Correct: 2 Wrong: 1

TRfeTEeT Al # & H1 Te T57 A asm?;estuaw‘j"ﬂ%ﬁ#@?studymateriam.com

Options :

A % gaee
B. % e
C. % guom
D. ¥ T
E % g

Question Number : 15
Correct : 2 Wrong : 1

Which of the following states has very little alluvial soil area?
Options :

A ® Uttar Pradesh

B. * Bihar

c Iladhya Pradesh

D. ¥ Maharashtra

E. * Tami Madu

Question Number : 15
Correct: 2 Wrong : 1

TraftaT teat # & Rpeer U Fga BF el el @1 & 27
Options :

A % FEEWES

B. ¥ TEw

c. ¥ meg

D. ¥ mgnrg

E % amarg

Question Number : 16

Correct : 2 Wrong : 1

The bhalera nangal multipurpose project is a joint venture of which of the following states?
Options :

A

A B Puyab and Hitmachal Pradesh only

B *® Pumjat and Haryana only

c *® Punyab & Rajasthan only

D. ¥ Puyab , Haryana & Rajasthan only

E ® Punjat, Haryana & Himachal Pradesh only

Question Number : 16
Correct: 2 Wrong : 1

HIEST AN egag s et FHgieiad # |, o Tt &1 U@ 9w JuaH &7

Options :

A ® el U 3 TEATE e

B. ® el U ST ghem

C. % el T ST T

D. ¥ e UelTd, ETO ST T

www.upscstudymaterials.com
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Question Number : 17

Correct : 2 Wrong : 1

The mapping and ezploration of minerals in [ndia is the responsibility of
Options :

A ® Minerals and Metals Trading corporation of India

B. ¥ Mines and Minerals development corporation of India
c Geological Survey of India

D ® survey of India

E % Steel Authority of India

Question Number : 17
Correct: 2 Wrong : 1

IRT | GeAT o AT 3T a0 & SraeT &

Options :
A ® THteg U2 Heeq SIS SRy 3 sivear

B. ¥ {izew U= THATed Saeuie e i Suear

C. ¥ WA AT ST AT e 5 S s s ar
D. ® | o gigar

E #® €I0e sriier o sl

Question Number : 18
Correct: 2 Wrong : 1

Which of the following rivers has the largest catclunent area”
Options :

A B Tapi

B. ® Mahanadi

C. * Brahmani

D. ¥ Krishna

E. % Kaveri

Question Number : 18
Correct: 2 Wrong : 1

oot afaTt & & s oy ges 98T Toug &9 27
Options :

A % gmit

B. ¥ mgmar

C. % g

D. ¥ g

E ® @

Question Number : 19
Correct : 2 Wrong : 1

The world Envoirement day is celebrated on which of the following days?

Options : www.upscstudymaterials.com



A % Nay 5
B. ¥ June 5
C. *® July 5

www.upscstudymaterials.com

D *® meptember &
E. ® November 5

Question Number : 19
Correct : 2 Wrong : 1

T # 8 T T e veiemT TaeeT A ST 87

Options :

LA

igoﬁ A

A

L}

®
%
*
®

MO a® e

5 HelFalt

Question Number : 20

Correct: 2 Wrong : 1

Which of the following state in India has the smallest area under forest?
Options :

A * Arnachal Pradesh

B. ¥ Assam
o Haryana
D. % Tharkhand

E % Madlyya Pradesh

Question Number : 20

Correct: 2 Wrong : 1
WRT H Ao Tad Tord Tt 3 UTe e §iaT ST @7 &1 27

Options :

A ® FEER U
B. ¥ a@w

c. ¥ gl

D. ¥ gans

E ® maudy

Question Number : 21

Correct: 2 Wrong : 1

Which one of the following types of forests is most wide spread in India?
Options :

A ® Thomn forests

B. # Tidal forests

c * Mangrove forests

D v Tropical dry deciduous forests

E * Tropical evergreen forests

Question Number : 21 www.upscstudymaterials.com



Correct: 2 Wrong: 1

ﬁﬂﬁﬁﬁaﬁﬁﬂﬁ?mwwﬁa@aﬁww\?gﬁ%?mdymaterials.com
Options :

A % FEEET

B. ® wamwigad

C. * amgfiw (i) &

D. ¥ gumfierdi e qufordt g

E # Jwrieer qeegr o

Question Number : 22
Correct : 2 Wrong : 1

The mstitution of pancliyati Raj is provided in which of the following articles of Indian constitution?
Options :

A * Aticle 48

B. ¥ Article 40

C. % Article 30

D. % Article 38

E. #* Article 35

Question Number : 22
Correct: 2 Wrong : 1

T 17 HICeT o TRieiad foheT argedal § T | 10 §ee S @1 1T 27
Options :

A % T 48

B. ¥ aredg 40

C. % areg 3o

D. ® areds 38

E * arpdg 3s

Question Number : 23

Correct : 2 Wrong : 1

The power of dissolving the Lol Sabha exist with whom in India?
Options :

A ¥ President of India

B. ® Prime minister of India

c *® opealeer of lok sabha
D. * Council of ministers

E # Members of parliament

Question Number : 23

Correct: 2 Wrong : 1
T WIS AT o1 w1 o T e e R 27
Options :

A ¥ T ¥ Oun #
B. ® R & mure §
C. ® T & sy |
D. ¥ 5y ufv i

www.upscstudymaterials.com



E * ggg & osear i
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Question Number : 24
Correct : 2 Wrong : 1

The children below the age of 14 years should not be employed in any factory or nune or engaged i any hazardous job, is presided
in which article of indian constitution 7

Options :

A ® Article 324
B. # Article 80
C. ® Article 70
D. ¥ Article 41
E ¥ Article 14

Question Number : 24

Correct: 2 Wrong : 1

14 |TF & TH IH o o[l DI el G 7 G H TG Ag T 57 =A1e0 I7 Tt |t @aeame o0 # 99 A5 1 547 ey, 56
T 17 |IceT o erer afgeig, § Eaiield 1eha T 27

Options :

A % arpeT 304
B. ¥ arEdg 80
C. * amedg 70
D. # arRoz 41
E ¥ ardg 14

Question Number : 25

Correct: 2 Wrong : 1
Which of the following pairs 15 not correctly matched 7

Schedule in the constitution of India -Content

Options :

A ® First Schedule - The states

B. ¥ Second Schedule - The forms of oaths or affirmations

C. ® Fourth Schedule - Allocation of seats in the couneil of states
D. *® Eighth Schedule - Languages

E. * Tenth Schedule - Profusions as to disgqualification on the ground of defection

Question Number : 25

Correct: 2 Wrong : 1

R S12 # & T a1 R A 27

AT & Alerem= H aes T - fomr gt

Options :

A % gl SrgEE - T

B. ' ZHTT SIEE - AT AT afdT & Em

C. % et STl - T qH H T @7 saed www.upscstudymaterials.com
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Question Number : 26
Correct: 2 Wrong: 1

Which one of the following rights | 15 not a fundamental rght in Indian constitution 7
Options :

A ® Fight to Equality

B. * Fight to Freedom

c ® Fight to Freedom of Feligion.

D. ¥ Fight to Property

E % Fight against exploitation

Question Number : 26

Correct : 2 Wrong : 1

TafetET & & @ a1 AfdeR, IR g § @iee it 751 87
Options :

A ® oAt @7 SIfAwTe

B. ® TadadT @7 seme

C. % enf G EEe=AT BT SATEE

D. ¥ TR T STEwT

E. * siqur & TEew ST

Question Number : 27

Correct: 2 Wrong : 1

The Constitution of India recognizes
Options :

A ® Only ethnic minorities

B * Only Inguistic minorities

c ® Only religions minorities

D. * Ethnic and linguistic minorities

E ¢ Feligious and linguistic minorities

Question Number : 27

Correct : 2 Wrong : 1

W T Hlelel= Uga =1 &

Options :

A ® ol A SeUEES T B

B. ¥ e WIS SeUEEIS! @

C. ® el THE SeUeEaa! Fl

D. ¥ STt ot WIS SiFueEas! @t
E. ¥ wifie afit W srmreEam! o

Question Number : 28
Correct: 2 Wrong : 1
What does part A of second schedule of the constitution of India deal with

Options :

A % Distribution of power between the states anc%#ﬂﬁacﬁht%gymate”als'com



B. * Union, state and concurrent lists .
www.upscstudymaterials.com

C. ¥ Remuneration and emoluments payable to the president

D. # Administration and control of scheduled areas.

E. * Validation of certain acts and regulations

Question Number : 28

Correct: 2 Wrong : 1

WA & W DT ZEC SRR DT TS ‘T Tehereh qre 0T 71T 8
Options :

A % Tt AT A mTETe @ e T @ T

B. * o, U= S \WedT geat

C. ¥ TR T 3= MTeATHE ST OiATe e

D. % wemee ot g &=t @ e

E * g sifai-=mt st Tramt o7 efemor

Question Number : 29

Correct : 2 Wrong : 1
Which Act incorporated Fundamental duties for the motion citizens in the constitution ?

Options :

A * 36th Amendment Act

B. ¥ 30th Amendment Act

C. * 40th Amendment Act
D. ¥ 42nd Amendment Act

E. % 44th Amendment Act

Question Number : 29
Correct: 2 Wrong : 1

aferer # ATt @ wedTe o U e steds o Hilei @d el i aTiHe e

Options :

A ® 36a7 e AT
B. ® 30 o gt ATy
C. ¥ 40 a7 gare sfaTam
D. ¥ 42 a7 Gy A
E * 44 a7 gt sfafam

Question Number : 30
Correct: 2 Wrong : 1

Arrange the following items n descending order in terms of their weightage in caleulating wholesale price mdex n India 7
A Food Products

B. Primary articles

C. Fuel, Power light and lubricants

D. Chemicals and Chemical products
Options :
® ABCD

A
www.upscstudymaterials.com
B.%® ACBD



C.¥PB, C,AD
D. ¥ B, AD,C
E. # ¢, ABD

www.upscstudymaterials.com

Question Number : 30

Correct : 2 Wrong : 1

WA § Gl Hr2T Ferenieh @i 0T H 3eh Tged @ Al H HaToad Aaf @ raiia! o I saiedd oi7
A ETET IS

. UTITH SR

C. $e, Telstell WenTar 3T wfeiehe (SEe)
D. THEH 3T TS JouTs,

Options :

A% ABCD
B. ¥ A CBD
CY¥B CAD
D. ¥ B AD,C
E # C,ABD

Question Number : 31
Correct : 2 Wrong : 1

The "Deficit Financing " 15 India, includes

A Issue of new currency notes

B. Borrowing from Reserve Banle of India

C. Withdrawal of past balances / surptuses, etc.

Options :

A % onlya
B. ¥ Only B
C. ¥ OnlyC
D. % AandB
E # AandC

Question Number : 31

Correct: 2 Wrong : 1

. A T AR WA FEAT

W WA 1 ToTel dfep & e o7

T, 3N T ST TSI ATErST, 3T Wi TeTEr

Options :

A ® FEa T

B ¥ dam g

C. ® Feerm

D * wang
E ® Fafiwm

Question Number : 32 www.upscstudymaterials.com
Correct: 2 Wrong : 1



Which of the following is the apex financial institution for industs siclmer'?
Ot www.upscstudymaterials.com
ptions :

A ® Sick industrial Corporation (51C)

B. # Indian Reconstruction Bank of India (IEBI)

C. ¥ The Board for Industrial and financial Reconstruction (BIFE)
D. * Industrial Financial Corporation of India (IEBI)

E ® [ndustrial Development Banls of India { IDBI)

Question Number : 32

Correct: 2 Wrong : 1

ST SATCT o Toig S Taeiter Jeene g # & @i 7
Options :

A % g aftEniE T (SI0)

B. ¥ 9T & WA 14 g d (IRBI)

C. ¥ siEnfie ot TR gavfe @7 &g (BIFR)

D. ® squdie sienfie o = (IRBD)

E * adie sfteriiie e &@ (IDBI)

Question Number : 33
Correct : 2 Wrong : 1

Which of the following is the largest contributor to total savings in india?
Options :

A B Corporate Sector

B. ¥ Houschold Sector

C. ® Private Sector

D. # Public Sector

E. % Service Sector

Question Number : 33

Correct: 2 Wrong : 1

U H Gl aei o ol el 2T TS i aTel (Hareed o & o 87
Options :

A ® gTdie oldEs

B. ¥ wie HiTE

¢ ® el uides

D. ® @i nie

E. ® garueed

Question Number : 34

Correct: 2 Wrong : 1

Which one of the following is the Regulatory Authority for Mutual Funds and stocle Marleets in India?
Options :

A B IWinistry of Finance

B *® Fegistrar of Capital Issue

C. ® Reserve Bank of India

D. ¥ Securities and Ezchange Board of India

E # Stock Exchanges www.upscstudymaterials.com



Question Number : 34 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1
WA B T e aflv S¢ et o Toiy Fomaen wiferenor fgieree o € @19 27

Options :

A ® T A

B. % ot onel o o7 e

C. ® 9rdTT e dw

D. ¥ 9t niE e A @i
E * 7@ goaes

Question Number : 35

Correct : 2 Wrong : 1

Which 15 referred as Primary Sector in Indian economy 7
Options :

A Agriculture

B. % Banldang

C. ¥ Commerce

D ® Manufacturmg Industries

E ® Transport

Question Number : 35
Correct: 2 Wrong : 1

W 17 3rfeerelT # TRIHE 0ide o €0 H i =71 T &7
Options :

A ¥ g

B. ® &

c. ® gt

D. % TEfmim gz

E ¥ uitaga

Question Number : 36

Correct : 2 Wrong : 1

Banlt note 15 the rate at which the Reserve Banke of India provides loans to
Options :

A ® Private Corporate sector

B. ¥ Public Sector Undertalangs

C. ¥ Scheduled commercial Banles

D. ® Non - Banlang Fimancial mstitutions

E ® Foreign Banlcs

Question Number : 36
Correct: 2 Wrong : 1

& it arg oY & TS e ter fesre d o e e 3
Options :

A ¥ TRl FROie &7 @

B. ® Q=1 & & IO B
C. ¥ arJgiT anisa St @

www.upscstudymaterials.com




D. % fiv . 3T e gearT @t
E % Tt dwt ot

www.upscstudymaterials.com

Question Number : 37
Correct: 2 Wrong: 1

The scientific study of birds is lmown as
Options :

A ® Herpetology

B. * Limmnology

C. ® Malacology

D. ¥ Crnithology

E. * Orolo gy

Question Number : 37
Correct : 2 Wrong : 1

Options :

A ¥ A
B. ® Tt
C. ® meesiaeT
D. ¥ anfFerara
E % i

Question Number : 38

Correct: 2 Wrong : 1

The gravitational attraction of the earth on an object is called its
Options :

A ® Drensity

B. # Inertia

C. * Mass

D. # Power

E ¥ Weight

Question Number : 38
Correct : 2 Wrong : 1

e oEq, O Yall o Tocel 2T ATHEUT Pl SHERT --------- FET AT &
Options :

A ¥ o

B. ¥ Fgca

C. ® ToAE

Question Number : 39

Correct: 2 Wrong : 1
Which of the following diseases is not spread by mosquitoes 7
Options :

L % 1alara www.upscstudymaterials.com
o L'}



B ¥ Poliomyelitis
c ® Encephalitis
D. * Filariasis
E ® Dengue

www.upscstudymaterials.com

Question Number : 39

Correct: 2 Wrong : 1

TRTRTET | & W e AT Featl # gl et T8 67
Options :

A ¥ Rt

B. ¥ Oifeiarsia

C ® gEpemged

D. ® wrEanar

E % 27

Question Number : 40

Correct : 2 Wrong : 1

How many bones does adult baman skeeleton has
Options :

A 201 bones

203 bones

C. ¥ 206 bones

D. ¥ 207 bones

E. #* 208 bones

Question Number : 40
Correct: 2 Wrong : 1

S W SeTel H Tt BT il &

Options :

A % o001 BT
B. % 203 g
¢ ¥ 206 g
D. #® 207 g
E % 208 gEam

Question Number : 41

Correct : 2 Wrong : 1

Which of the following is not "Greenhouse Gas"?
Options :

A *® Carbon Dioxide

B. ¥ Methane

C. #* Nitrous Ozide

D. ¥ Hydrogen

E ® CFC's

Question Number : 41

Correct: 2 Wrong : 1

TR # E w i gTee e g 7
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Options :

_ www.upscstudymaterials.com
A ® G ETEeTTEES
B. ® g

C. ¥ qEed ATrqrEs
D. ¥ g

E * CFCs

Question Number : 42

Correct: 2 Wrong: 1

All machines suffer a loss of efficiency due to
Options :

A * Distance being exchanged for force.

B. ®* Force bemng exzchanged for distance.

C. ¥ Friction

D. # alock of force

E. #* alack of distance

Question Number : 42

Correct: 2 Wrong : 1

............... e it W A AT T g g
Options :

A % g7 & T g @7 FAmE § T

B. % 01 @ o &t oy Taeme g1 2 2

C. ¥ oy

D. % o @7 T T

E % g0 o

Question Number : 43

Correct: 2 Wrong : 1

The chemical properties of elements are determined by
Options :

A ¥ Flectrons

B. * lons

C. #® Wesons

D. # Neutrons

E. * Protons

Question Number : 43

Correct : 2 Wrong : 1

et 37 TR 0T oo & Fruffer 51 2
Options :

A Y gt

B. * s

C. ® Ao

D. ¥ e

E * et

www.upscstudymaterials.com



Question Number : 44
Correct : 2 Wrong : 1

MName the M.G. 0. to which Nobel laureate for peace sh. Kailash Satyarthi is associated 7
Options :

www.upscstudymaterials.com

I

A B prayas

B. * Parivartan

C. * Nuldti Caravan

D. * Bandhua Muldti Morcha

E ¢ Bachpan Bachao Andolan

Question Number : 44
Correct : 2 Wrong : 1

I I HLHHT WIS BT ATH AT BT FAE AT o o0 Hlelel TOERTE Terid 1 &7 Shelter gl 92 gu &7
n*

B. ® uftad—

c. ¥ gif aar

D. % g gie Aot

E. ¥ S senst g e

Question Number : 45

Correct : 2 Wrong : 1
Fecently |, India Launched a massive air and sea operation, to evacuate thousands of Indian nationals from yemen, under the name
Options :

M

A B Operation Meghdoot
B. % Operation Megh Rahat
c * Ciperation Paraloam
D v Cperation Rahat

E ® Operation Virat

Question Number : 45

Correct: 2 Wrong: 1

T BT A, AT | AR WA 1 AT @ GTelT T o T, HIRT o -mmmeemmemmmmemoe AT & T5d, U a2 T U gas 3 aag !
T gF T

Options :

A % ffote fogd
B. # aimis oo OET
C. ® ST WA
D. ¥ s ted
E * affoeed e

Question Number : 46

Correct : 2 Wrong : 1

Mame India’'s fourth satellite, successfully lavnched by ISRO on 28 March 2015
Options :

A ®IRNSS1-A

B. % [RNSS1-B

C ¥ IRNESl-C www.upscstudymaterials.com



DY IRNSS1-D
E ¥ IRNSS1-E

www.upscstudymaterials.com

Question Number : 46
Correct: 2 Wrong: 1

28 W 2015 T SERT GIRT Therd heieh Waifie e T W o 21er 30 &1 A1 aars
Options :

A ®IRNSS1-A

B. ¥ IRNSS1-B

C. ¥ [RNSS1-C

D. ¥ IRNSS1-D

E ¥ IRNSS1-E

Question Number : 47

Correct : 2 Wrong : 1

Who was personally presented prestigious Bharat Fatna Award at his residence by president of India on 27 March 20157
Options :

A #® Manmohan oingh

B. # Madan Mohan Ilalviva

C. ¥ Atal Bihari Vajpayee

D. ¥ HD. Deve Gowda

E. * Sachin Tendular

Question Number : 47

Correct: 2 Wrong : 1
27 W 2015 D ART o VLTS GRT AT &0 § o7 s @i 3-eh TaTd Ot Ui (8 W (o QO Tedd e 12T &7

Options :

A % ganEe e

B. * wad Higd HIAd
C. ¥ 3 TR awur
D. ® = ST aamer

E ¥ @ie dgma

Question Number : 48

Correct : 2 Wrong : 1

Fecently, Saina Mehwal has become the first Indian Woman Shuttler to attain the world number one ranling. Who has the
distinction of bemg the first world No. 1 Badminton Player From India ?

Options :

A ® Chean Anand

B. % Meena Shah

C. ¥ Prakash Padukone
D. * Pullela Gopichand

E * Syed Modi

Question Number : 48

Correct: 2 Wrong : 1

16l &1 H, 1 & e e {7t GTeel e ellell 11 Hgellel Ugell HIXd 14 Aigell 6s (e [Eels! o TS g1 T | Tgel gt
T e | dsTHed [GATST 51 @7 Mg e 0T 27 www.upscstudymaterials.com
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Question Number : 49

Correct: 2 Wrong: 1

Which of the following pair is wrong 7
Options :

A % Santosh Troply - Football

B. * Dhyan Chand Trophy - Hocleey
c v Duleep Troply - Badminton

D * Wellington Trophy - Fowing

E. * Deodhar Trophy - Cricleet

Question Number : 49

Correct : 2 Wrong : 1
TEET SIS H T T T 87
Options :

A ® G T - FEETA

B. ® e TG - BT

C. ¥ gioi 7757 - aefiea

D. ® Afme ZThT - Fwr

E # S KF‘UE: - Temdne

Question Number : 50

Correct: 2 Wrong : 1

Eecently, Poonam Mahajan became the first Woman President of which of the following sports federation 7
Options :

A ® aports Authority of India

B. ¥ PBaslket ball Federation of India

C. ® Badminton Association of India

D. # All India Football Federation
E. ¥ National Hocleey Federation

Question Number : 50

Correct : 2 Wrong : 1

BT &1 B, T30 HE Faiead B 9 e @ TETa &1 Ugei! Aled] Sreae o= 118 27

Options :

A ® oI et mTTera

B. ¥ WA aTEahe eiel ARTEY

C. ® AT dsfieT 99

D % 3T YA pedid AgTee
E ¥ Tt gTdt werey
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Number of Questions: 50
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Question Number : 51

Correct: 2 Wrong : 1

Which of the following fair (MWaratha miler of Chhattisgarh and his world) is correctly matched 7
Options :

A B Bimbaji Bhonsle - conguest of Chhattisgarh

B. ¥ Vyrarlcoji Bhonsle - Suba system in Chhattisgarh

c * Chimbhaji Bhonsle - construction of temple at Ratanpur

D *® Purushaji Bhonsle - Surrender of Chhattisgarh to the England
E % Appasaheb Bhonsle - Establisthunent of independent langdom of Chhattisgarh

Question Number : 51
Correct: 2 Wrong : 1

T & & 9 € SIET (GRS T AT ST Od ) gEied £ 7
Options :

A ® TR e - BT ST

B. ¥ e iEe - geEs ¥ g

C. ® T Wi - oo | A At

D. % qeuTS Wi - TS @7 STt @ E T

E ® aurarge 9igel - o d gaidis T B ST

Question Number : 52

Correct : 2 Wrong : 1

Which of the following statement is not true about i British administrative system in Chhattisgarh after 1861 7
Options :

A B Malguzari settlement for land revenue was implemented .

B. ® Elaborate reforms were made in the judicial sustern.

C. ¥ Anew police system was mtroduced

D. % Neces sary reforms were made in jail administration

E. ¥ Elaborate arrangaments for trigation were made.

Question Number : 52

Correct : 2 Wrong : 1

1861 o TBaTT geitarTs # TeIiesr Harai-e saaeaT o derel # Ao T /& @07 97 T8 o 51 57
Options :

A % ToEa & TR0 ATATSRT o e I T T

B. ¥ Seremeest § s gew e e

C. % 7 qiowT s @7 g e T

D. ¥ S weme B ST gem o mr

E. ¥ T8 o samer werer Tendr

Question Number : 53
Correct : 2 Wrong : 1
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Match list 1 (Ewents in Chhattisgarh ) with List 2 ( V\Yv;\;c\?lwﬁapscstu dymaterials.com
List 1 List 2
A Publication of Hindileesart' Newspaper - 1. 1900 A D,

B. Establishunent of "saraswatt’ Library in Fajnindgaon -2, 1907 A D,

C. Publication of "Chhattisgarh mitra’ Newspaper - 31008 AD.
D Third session of provincial congress at Fampur - 41900 AT
Options :

A Y A3BE-4C1D-2
B. % A-3B-1,C-2D-4
¢ % A4B-3C-1D-2
D. % A4B-2C-1D-3
E * A2B-3C4D-1

Question Number : 53
Correct : 2 Wrong : 1

T R
e 1 = 2

A TE-ST o7 | THTEIR O3 T HepTerT 1. 1000 %o
B . TG o TEad [ Jeaeptad &\ Yy Clivg e
C . 'BAETE AT ' GHTEIR O &7 TeTeeT 3. 1008 o

D . Wi e o g 19 6 @1 Ayl H aates 4. 1000 So
Options :

A Y A3PE-4C-1D-2

B. ¥ A-3B-1,C-2D-4

¢ % A4B-3C-1D-2

D % A-4B-2C-1D-3

E %# A-2B-3C-4D-1

Question Number : 54

Correct: 2 Wrong : 1

The following persons were the leaders of a huge processing taleen out in Faipur on 9th Avgust 1942 against the arrest of
Ilahatma Gandhi-

1. Ranvir Singh Shastri 2. Jainarajan parde

3. Ram Dayal Tiwari 4. Kamal MNarayan Sharma

Select the correct answer

Options :

A %1 2and3

B #* 2 3and4
C ¥ 1, Yand4
D * 1, 3and4

® - ) www.upscstudymaterials.com
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Question Number : 54 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

HETeHT TITeft et o o Tarrer © e # 0 amred 1042 ot Tavot fetanet SJefe & a7 gt s o
1. T TEE SITElt 2. SR e

3. TTHETA Temer 4. T AT St

T I G

Options :
A% 2uF3
B. %2 3ua4
c.¥1, 11744
D %1, 3094
E ® 21043

Question Number : 55

Correct: 2 Wrong : 1

Which of the following statement is true ghout the civil Disobedience movement in Chhattisgarh 7
Options :

I

A B Gandhiji wisited Chhattisgarh during this movement.
B ¥ Jungle satyagrahas were organized at several places.
C. * At few places voilent enciendents tool place for prohibition of liquor.
D. % At few places mob put on fire Govet buildings.

E % Satyagralis almost stopped entire Govwt. machinery.

Question Number : 55
Correct: 2 Wrong : 1

TG H HCHD ST Sa e o Herel H Ao # & DI o 92 #ed 3
Options :

A ® = Ao T IR el o e e T T

B. ¥ 3 ST O SR Se0iE SRS e T

C. ® srgesl & o0 9o THT I fEae 9o g

D. * g rEr # i § S get # T g

E % ool axer AT f aeamigat § a7 e i

Question Number : 56

Correct: 2 Wrong : 1

Which of the following pair (Jungle Satyagraha in chhattisgarh in 1930 and its leader ) is correctly matched 7
Options :

M

A ® Catta sill satyagraha - Mahant Lasiminarayan Das

B. * Rudri- Mawagaon satvagrabia - Pt sundarial Sharma

¢. ¥ Tamora (Mahasamund ) satyagraha- Shanlearrao Ganodwale
D. * Nohanana matyagraha - vati yatarial

E * Padigaon Satyagraha - Mathji Jagtap

Question Number : 56
Correct: 2 Wrong : 1

TETaET # 8 @ dF SISt (Fas | 1930 # g4 S0Te Godmg Uel 39 Jd7 JgATHT & ?

Options : www.upscstudymaterials.com



A B TR TEATE - WEd AEHT TR0 ST
B. % @57 -ETE HeE - O geay w2t

C. ¥ TUNT (HETrS, JEeaTIE - S/ T gt
D. ® HigedT 9edmg - AT Td-elTe

E % OIS S90g - et S

www.upscstudymaterials.com

Question Number : 57

Correct : 2 Wrong : 1

Which of the following is wunatched.
Options :

A *® Chairman of Gram sabha

B *® Sarpanch

c Dreputy Sarpanch

D. ¥ Member of Janpad Panchayat

E #* Member of jila Panchayat

Question Number : 57

Correct: 2 Wrong : 1

P & & AT o a A B

Options :

A % TITH AT T FA
B. ® @iuer

¢. ¥ Iu et

D. ® AU v o qaed
E * TS w=med @7 g5

Question Number : 58
Correct: 2 Wrong : 1

Who does the social Audit of the worlts of Gram Panchayat
Options :

A ¥ Gram sabha

B. ¥ anpad Panchayat

C. * Jia Panchayat

D. * Chief Executive Officer

E # Collector

Question Number : 58
Correct: 2 Wrong : 1

TITH U=lT2IT o 1T T STATRE STehelT - TedT & -
Options :

A Y TmEdT

B. ® SUL =

C. ¥ e v

D. ® meEy Feie St

E * wolge

Question Number : 59 www.upscstudymaterials.com



Correct: 2 Wrong: 1
stud

_ .u materials.com _ . .
Match the following members elected for Loksabha frot %%ﬁlathsygm% m ﬂle%ams of their constituencies.

Name constituencies
(1) Dinesh Eashoap (a) Durg

(1) Tamradhwa) Sahu (1) Raigarh

(111} Banshilal Mahato (c) Rajnandgaon
(1v) Vishou Dev Sai () Bastar

(v) Abhishele Singh (&) Eorba

Options :
noOW

S

B *

_f""\ _ .-"_r.r‘. "'_ZTT" _/"\. P_/"‘.
a-(1if) b- (iv) c-(v) d-(1) e-{1)

_/"""\. _ f'.r.r'\ "'_/TT\ _/"'\ ':_u""\
a-(11) b- (1) c-(v) d-{1) e-(1)
C. % a-(iv) b- (if) c-(1) d-{i) e-(v)

-\./ P P Y " P P
D v a-(1) b- (1) c-(v) d-(1) e-{1u1)

E ® a-(i) b- (1) c-(v) d-{i) e-(1)

Question Number : 59

Correct: 2 Wrong: 1

FTETTG | FherdT o Tong fater Saeat @ 3w e e &5 & HTe 0T gRTed iy

TR aieT &
(1) Ta=rer e (a) gt

(1) qTTeerT HTg (b) TS
(it ) eTSfIeTTeT HE (¢) VSIS
(iv ) Tereu] ey w1 (d) e
(v ) 3IraH® g (€) DT
Options :

A B a-(itl) b-{iv) c-(v) d-{1) e-(ii)

B. % a-(if) b-(1wv) c-(v) d-(1) e-(1)

c * a-(1v) b-(it) c-{1) d-(id) e-(v)

-\./ P .Y P P P
D v a-(1) b-{1v) c-(v) d-(1) e-{ui)

E ® a-(1) b-(1r) c-(v) d-(itl) e-(1)

Question Number : 60
Correct: 2 Wrong: 1

Who sanctions the social security pension is rural areas in Chhattisgarh -

Options :

A * Gram Sabha

B. ¥ Gram Panchayat
c Janpad Panchayat

D. * Jia Panchayat

www.upscstudymaterials.com



E. # Chief Executive Officer. .
www.upscstudymaterials.com

Question Number : 60

Correct : 2 Wrong : 1

TR | TTHIT &5 § ATaT=er GeaT Ua & Feigid o &l &
Options :

A % maT

B. ® T w=IET

¢, ¥ U v

D. ¥ @ w=E

E. ® ge s st

Question Number : 61

Correct: 2 Wrong : 1

Who presided over the meetings of Gram Sabha in Scheduled Areas m Chhattisgarh -
Options :

A ® marpanch

B. * Deputy Sarpanch

C. ¥ Person elected at that time by Gram Sabha

D. # Gram Sachiv

E. # Most Senior Citizen

Question Number : 61
Correct : 2 Wrong : 1

TR # SRTRe &A1 H W WY A i e ¥
Options :

A B e

B. ¥ 3uaemE

C. ¥ T HT BT FeAnd e e

D. ¥ qmake

E. * gdfim afeg AT

Question Number : 62

Correct: 2 Wrong : 1

Who doesn't submit on affidavit with election nomination form

Options :

A ¥ Candidate contesting the election of sarpanch

B. ® Candidate contesting the election of member of Janpad Panchayat
C. ¥ Candidate contesting the election of Jila Panchayat

D. ® Candidate contesting the election of Lok Sabha

E. #* Candidate contesting the election of Vidhan Sabha

Question Number : 62
Correct : 2 Wrong : 1

T o & I AT ATHTER O WEqd Sid TA 0 O Ueqd gt #edT
Options :
A TR T A AS AT S

upscstudymaterials.com
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C. % TS TSR GaE @7 AT AS AT S .
www.upscstudymaterials.com

D. ® i &7 &7 G Ae aTel s
E. % TErer &7 &7 g1 A aneT areeit

Question Number : 63

Correct : 2 Wrong : 1

In which of the following pat area 15 lounloun located-
Options :

A B Ilainpat

B. %7 arangpat

c ® mamripat
D. ¥ Jashpurpat

E ® Faigarh Upland

Question Number : 63
Correct: 2 Wrong : 1

TrafaT # & frd o g7 # geg ead

Options :

A % e

B. ® S

c. % gmimme

D. ¥ F9qT UTe

E ® g g qw

Question Number : 64
Correct : 2 Wrong : 1

Which of the following river is not a tributary of river indravati -
Options :

A * Kotari

B. ¥ Gudrma

c Karger

D. * Bording

E # Mandira

Question Number : 64
Correct: 2 Wrong : 1

TafafaT & & @17 df 957 sgrad! &7 ggrew 5 E

Options :

A % g
B. ®

¢ ¥ @

D. * FrfEm
E ¥ Afros

Question Number : 65

Correct: 2 Wrong : 1

www.upscstudymaterials.com



Datch list 1 (waterfall with ) lst 2 (river)

List 1

A Amritadhara
B. Kothli

C. Gupteshwar
D. Pavai

Select the correct answer
Options :

A ¥ A3 B-4.C-2D-1
B. ¥ A4B-3C-1D-2
C. # A2 B-1,C-4D-3
D. % A3 B-1,C-4D-2
E # A-4 B-3,C-2D-1

Question Number : 65
Correct : 2 Wrong : 1

List 2

1. Chanan

2. Kolab

3. Hado

4. Kanhar

www.upscstudymaterials.com

T 1 (ST W) T el 2 (AT ) # Ao i

T 1
3. ST -
b. HIEAT -

C.H@FEIT-
d. e -
T T A -

Options :

A Y A3B-4C-2D-1
B. ¥ A4B-3C-1D-2
C. % A2B-1C-4D-3
D. % A-3B-1C-4D-2
E % A4B-3C-2D-1

Question Number : 66

Correct : 2 Wrong : 1

In which tahsil of chhattisgarh Tel river flows -

Options :

AV Dieabhog
B. # Magari
c ® maraipal
D. *® Gartyaband

E. * Nahasamund

it 2
L. =TT
2. I
3. gEar

4. TR

www.upscstudymaterials.com



Question Number : 66 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

TG @ The TEEe i A AaT Wened gl E

Options :

A Tgam
B ®

C. ® T
D. % i

E ¥ mgregs

Question Number : 67

Correct : 2 Wrong : 1

Ezxztension of Fed Loam soil in Chhattisgarh state is -
Options :

A ¥ Sulana- Dantewada

B. ¥ Kanler - Bhanupratappur

c ® Kondagaon- Kanleer

D ® Maragapur- Bhanupratappur

E % Bastar- Bijapur

Question Number : 67
Correct: 2 Wrong : 1

TS | @I S AT TSt @7 feeaw &
Options :

A GEAT - TS

B. % ia - T

C. ® FUETI - T

D. ¥ JREVT ~HAqTIgT

E % geae -d=me

Question Number : 68

Correct : 2 Wrong : 1

In 2011-12 the percentage of minor minerls our of total mineral revenue in Chhattisgarh state -
Options :

A % 406

B ¥ 382

C. % 687

Question Number : 68
Correct: 2 Wrong : 1

2011 -12 ® gHiteng T H Gl Giee Traed # T @i @1 0id 9T &

Options :

A % 404

B. ¥ 3.82

c % ga7 www.upscstudymaterials.com
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Question Number : 69

Correct : 2 Wrong : 1

Which mineral production oceurs i Jhipan - learli-
Options :

A * Bauite

B. % Coal

C. ¥ Limestone

D. ® Iron - ore

E. ® Dolomite

Question Number : 69

Correct : 2 Wrong : 1

T - et H et it o7 Ieune BT E
Options :

A ¥ grrEEes

B. ® @i

c. ¥ gAT U

D. ® wig ared

E ® =EMEEs

Question Number : 70

Correct: 2 Wrong : 1

What is percentage share of thermal power in total electricity capacity, produced in Chhattisgarh.
Options :

® 07%

v 049,
#®
ks

-

®

Mmoo

Question Number : 70

Correct : 2 Wrong : 1

TETE | T[T IeaTe-T T H T10 Tere[d &7 TeedT a1 uided ¢
Options :

Jas
07%

2

D4%

=

L£00
24

[ e T =

%
%
®
E

x|

. Ta%

Question Number : 71
Correct: 2 Wrong : 1

In which district of Chhattisgarh, Nayanpur- Girvarganj Integra- Ted Infrastructure Centre is established.
Options :

.\33]:

. www.upscstudymaterials.com
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B. ® Kabirdham .
www.upscstudymaterials.com

c Dargua

D. *® Surajpur

E. ® Dantewada

Question Number : 71
Correct: 2 Wrong : 1

ST - T T ehigr srertaarT ferdmd g or e T
Options :

A % g

B. ® e

C. ¥ &

D. ¥ gt

E ® geaner

Question Number : 72

Correct : 2 Wrong : 1

What is the share percentage of Chhattisgarh in total coal production of India during 2012-13.
Options :

v 21.1%

0

Li/0
20.5%
20.7%

TR0
g e

= g o @ o
¥ g u

Question Number : 72
Correct: 2 Wrong : 1

T 2012 -13 S PIAAT & Pl IeUIGA H FeEIG T THedT e AT Oia ad &
Options :
v 211%

i inl= Ty

ey«

20.5%

20.7%

¥ o un u

T30
e

Mmoo o' e

Question Number : 73

Correct: 2 Wrong : 1

As January 2014 which district of Chhattisgarh state has the lowest number of fair price shops.
Options :

A *® Dantewada

B *® Bijapur

C. * Konta

D. ¥ Marayanpur

E. * Kanker

Question Number : 73

Correct : 2 Wrong : 1 www.upscstudymaterials.com

SAeT 2014 @i e H oeitere T & e el § 3T e &1 gl @0 g &




Options :

A ® TeEmeET
B. % e
C. ® Fier

D. ¥ IR
E ® @

www.upscstudymaterials.com

Question Number : 74

Correct: 2 Wrong: 1

What was the total production of Soyabean i Chhattisgarh m the year 2012-13.
Options :

A *® 180.65 Thousands M.T.

B. ¥ 180.35 Thousands M.T.

C. ¥ 1091.80 Thousands M.T.

D. % 103.67 Thousands M.T.

E. % 108.52 Thousands M.T.

Question Number : 74

Correct : 2 Wrong : 1
T 2012 -13 O g H Qe @7 Pl JeuTa a1 a7

Options :

A ® 13065 g Hiefiw 7
B. # 180 35 g9 Hieht® &=
c. ¥ 101.80 g Ao =9
D. ¥ 103,67 79X HIZ® o
E # 108.52 g e o

Question Number : 75
Correct: 2 Wrong : 1

As per 2011, what was the value of lnunan Development Index in Chhatisgarh.
Options :

A V0358

B. ¥ 0312

c. % 0421

D. % 034

E % 0477

Question Number : 75

Correct : 2 Wrong : 1

a4 2011 W SITER T H AT o @7 god ¢
Options :

A ¥ 0358

B. ¥ 0.312

c. ® 0421

D. % 0.324

E #0477

www.upscstudymaterials.com



Question Number : 76
Correct: 2 Wrong : 1

Who is the chief deity of Karwa Tribe -
Options :

AV Ehudiya Bam

B. * Kudur Gadhin

C. * Lankeshwari

D. * Bilaimata

E. * Belgahin

www.upscstudymaterials.com

Question Number : 76
Correct: 2 Wrong : 1

T ST g 2 e B
Options :

A ¥ gz T

B. ¥ ggrmied

C. % gl

D. % fowe o

E ® gamg

Question Number : 77

Correct : 2 Wrong : 1

In the place called "“Somnath' which rivers confluence .
Options :

A B Arapa Shivnath

B. * Paires - Mahanadi
C. #® Nand - Mahanadi
D. ¥ Shivnath - Kharm

E. ¥ Mahanadi - Janl

Question Number : 77

Correct : 2 Wrong : 1

AT | ATHE €2 UF Tep Alet @ a7 &
Options :

A % 3T - figaT

B. ® N7 -¥RET

C. ® wg -mEer

D. ¥ Taemr - ared

E % mgmar -=tw

Question Number : 78

Correct : 2 Wrong : 1

Hatleeshwar Iahandev Temple 15 situated at which place -
Options :

A % Kurad

B. % PiTgA
c Faipur

www.upscstudymaterials.com
D ® Curg



E. * Charama .
www.upscstudymaterials.com

Question Number : 78
Correct : 2 Wrong : 1

EEeER TETad ISt gl e &
Options :

A ® gEg

B. ® femmm

c. ¥
D. ¥ gif
E # Zm

Question Number : 79

Correct: 2 Wrong : 1

The site lenown as a hermit place of Lomash Rishi is Chhattisgarh is related to which place.
Options :

i

A ® Turturiya
B. ¥ Sihawa
c ® Sirpur
D * Fatanpur

E % Arang

Question Number : 79

Correct : 2 Wrong : 1

TOITE | AT F0 O P o 0 O\ T e G sy B ST e e
Options :

A B gEgien

B. ¥ Tegmr

C. ® R

D % g

E # am

Question Number : 80

Correct: 2 Wrong : 1

Place lmown as oldest example of theatrical tradition in Chhattisgarh is
Options :

A B Fatanpur

B. * Raigarh

c v Famgarh
D. * Khaira garh

E. * Rajim

Question Number : 80

Correct : 2 Wrong : 1

FUIE | AT TR & Ue-dd SST50 AT AT aTeT T &
Options :

A ® @A

B % e www.upscstudymaterials.com



c. ¥ e
D. % &
E * em
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Question Number : 81
Correct : 2 Wrong : 1

Which Chhattisgarh Sweet 15 distributed as prasad i Rajivlochan Temple.
Options :

AV Peediya

B. # Papaclu

C. ® Khurmi

D. * KariLadu

E. #* Adasa

Question Number : 81
Correct: 2 Wrong : 1

DI T TG THET Teid flie- Al § 0TS o & o orar SmT e
Options :

A TTET

B. % quer

C % T

D. ¥ iaTg

E % am=er

Question Number : 82

Correct : 2 Wrong : 1
The meaning of "Ghare ni aye randha, duare Bhainsa Bandha' is
Options :

A * Buttalo rearng
B. ¥ Battalo Trading
C. ® Business of milk
D. ¥ Cultuation

E. ¥ None of these

Question Number : 82
Correct: 2 Wrong : 1

B¢ T 7T TTeT  G3r AT elTelT ' T e g -
Options :

A ® IR OTerET

B. ® &g d=mT

C. ¥ o @ aEs

D. ® &t wear

E ¢ g8 @ o575 75t

Question Number : 83

Correct: 2 Wrong : 1

Which Archaeological site was excavated in the year 2014 )
Onti www.upscstudymaterials.com
ptions :



A .
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B. ® Sisdeori

c ® Drespadih
D. ¥ Rajim
E % Gopalpur

Question Number : 83

Correct : 2 Wrong : 1

e 2014 H Tepe QETATIcale T2 BT Joa@ Fa a7
Options :

A % T

B. ¥ TEEgd

c. ® ZuEE

D. ¥ T

E. ® Tiomee

Question Number : 84

Correct: 2 Wrong : 1

Raipur Sabitya Mohatasva 12- 14 December 2014 had organized in which wvenue from the following-
Options :

h % oo

S

B. ¥ Pt Ravishankar Shulda Auditoum
C. ¥ Purkchouti Muldtangun

aheed Simaralk

D. % Administrative Academi

E. ¥ Ambadiar Bhavan.

Question Number : 84

Correct: 2 Wrong : 1

AT Hiiged A ioad 12 -14 TEawer 2014 org M 0 A= gam

Options :

A ® gfiT oS

B. % O Tiaere e [ra e 9T
C. ¥ AT g

D. ¥ gemEie et

E ® amd=ay wad

Question Number : 85
Correct: 2 Wrong : 1

Phara - Muthiya is prepare from which of the following-
Options :

A #® Wheat flour

B. ®# Gram Hour

C. ¥ Rice Hour

D. * Maize Hour

E * Tildwr

Question Number : 85 www.upscstudymaterials.com



Correct: 2 Wrong: 1

T H.%-q-r e i e T % www.upscstudymaterials.com
Options :

A ® TE e

B * g|q

C. ¥ e ameT

D. * mgr amer

E % fage

Question Number : 86
Correct : 2 Wrong : 1

According to Cattle Census 2007 the Cattle density in Chhattisgarh
Options :
A Y105
B. % 115
c. % 125
D. % 135
E % 145

Question Number : 86
Correct: 2 Wrong : 1

FOIETTg Ta | 2007 o 05 TI0ET & SER 0] Teled &

Question Number : 87
Correct : 2 Wrong : 1

Which of the following in Chhattisgarh is the oldest power Generation Plant 7
Options :

A % Dr.SP.M. Thermal Electricity Plant

B. ¥ Korba (East) II

C. % Mini Mata Husdo Bango

D. ® Korba (West )

E. * Korba (North)

Question Number : 87

Correct: 2 Wrong : 1
FRETg T H W § € @1 67 Tael QT feled Scaiad e g 7
Options :

A % =Toudo i o OH o 710 @ 75
B. ¥ @iar (e ) 11

c. ¥ T AT REaT A

D. * oear urem

www.upscstudymaterials.com



E #® gar 3%

Question Number : 88

Correct : 2 Wrong : 1

www.upscstudymaterials.com

Bladhav Sadashiv Golwallear (Guryi) 15 related to which place.

Options :

A B Faipur

B. # Mahsmund
c oaraipati
D. ¥ Dhamtari
E ® Bilaspur

Question Number : 88
Correct: 2 Wrong : 1

HTETe HE TSN et (&= ) &7 dFerel e T & &

Options :

A % T
B ®

i

)

¢, ¥ T
D. % e
E % e

Question Number : 89
Correct : 2 Wrong : 1

Gadiva Hill 15 where situated.

Options :

A #® Keshleal

B. # Marayanpur
C. ® Bastar

D. ¥ Kanleer

E. ® Dantewada

Question Number : 89

Correct: 2 Wrong : 1

Options :
.t"l'i. ® -EF-\: ElE

Question Number : 90

Correct : 2 Wrong : 1

During time duration 2001- 2011 which district has more population growth rate

Options :

I

A % Nahasamund
B. ¥ Bilaspur

www.upscstudymaterials.com
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D * Janjgir- Chanpa
E % Kanler

Question Number : 90

Correct : 2 Wrong : 1

2001 -2011 &T s7aver § Tore e o S9eeaT ghg 3¢ SITeem Gl
Options :

A % mErEgg

B. ¥ Tamme

C. ® [T

D. ® St

E ® @

Question Number : 91

Correct: 2 Wrong : 1

According to 2011 census { 18 Districts) how many district has less munber of female in comparison to male-
Options :

A %D

B. ¥ 11

c ®12

D. %13

E #0

Question Number : 91

Correct : 2 Wrong : 1

2011 T SHOMET (18 el ) & TR axiiaTg o b ool | qET &1 AU 2l @i TEq7 FF @1
Options :

't

B. ¥ 11
c. ® 12
D. ¥ 13
E ®#0

Question Number : 92

Correct: 2 Wrong : 1

According to 2011 census which district has more Literacy rate
Options :

A ¥ Dhamtari

B *® Fajnandgaon

C. * Kanler

D *® Jashpur

E % Bilaspur

Question Number : 92
Correct: 2 Wrong : 1

2011 T SHATOET & rgE o Mot § H1eRaT Ut arferd _
Onti www.Upscstudymaterials.com
ptions :



A Y amair
B. ® TeETE
c. ®
D. % 9y

E * e

Question Number : 93

Correct : 2 Wrong : 1

'Gobar - Bolwahi' 15 prevalent in
Options :

A Makdi Drevelopment bloclk

B *® Pharasgaon Development block
c Chhindgarh Development bloclk
D. * Kateldyan Development blocle
E * Bastar Developiment bloclk

Question Number : 93
Correct: 2 Wrong : 1

Options :

A ® gmET T EE

B. ® mee feere @vg
¢, ¥ Tavgme oo s
D. % Tdaean e |
E * geqe oy ars

Question Number : 94

Correct: 2 Wrong : 1

www.upscstudymaterials.com

Which scheme is related with " shaltambhari Yojana” in Chhattisgarh.

Options :

A B [rrigation well

B *® Irrigation Pumb

C. *® Kisan Somriddhi Tubewell
D. * Inicro Irrigation Scheme

E ¥ Area extension of Assured [rrigation

Question Number : 94
Correct: 2 Wrong : 1

TOTG | " STEFALT AT " T Everey Toree &
Options :

A ¥ &= gu

B. ® f&=ms o

c. * frae agig T

D. * ggw REE =T

E ¥ gikee e &7 Teaw

Question Number : 95

www.upscstudymaterials.com



Correct: 2 Wrong: 1

In which district wheat area was more m 2011-12 Wéu%slﬁ%ggématerials.com
Options :

A ¥ Bemetara

B *® Fajnandgaon

c ® Balrarmpur

D * Curg

E * Bila spur

Question Number : 95

Correct : 2 Wrong : 1

TraTeTET # & T e 7 2011 -12 H 7Ig g0 SiTerw a1
Options :

A ¥ T

B. % T

C. # gemqy
D. ¥ gif

E * e

Question Number : 96
Correct: 2 Wrong : 1

According to 2009 15 the view of reserve in Tin ore, the Contribution of Chhattisgarh to country is -
Options :

% Ahout 48 %

<.

Sbhout 38 %

Ahout 28 %

#

4

#®
. Ahougt 08 %

k3

2 I B

Ahout 18 %

Question Number : 96

Correct : 2 Wrong : 1
2000 & HR e SR o HER $I g1e § 397 H gxiamTg @71 AMEH &

Options :
A ® GTRTT 48 %

B. ¥ AT 38 %
C. ® T 28 %
D. ® T 58 %
E. ® ST 18 %

Question Number : 97

Correct: 2 Wrong : 1

In which of the following dance from hunting of Gour is enacted -
Options :

AV Iaopata

B. # Kalsar

c ® Hullapata

w .
D. * Ditong www.upscstudymaterials.com



E # Panrya .
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Question Number : 97
Correct : 2 Wrong : 1

T o & &g e § T 3T @ AT BT g
Options :

A ¥ gratr AT

B. # w@ar

C. ® gadmET

D. ® =

E * ofm

Question Number : 98
Correct: 2 Wrong : 1

Which place from the following is not in the Fajun Panchleosi route.
Options :

A ® Fingesnwar

B. * Patewa

c ® Kopara

D. ¥ Pandula

E * Kuleshwar

Question Number : 98

Correct : 2 Wrong : 1

TAH © DI AT TA A T e Homt
Options :

A ® TR

B. % giar

C. % Ty

D ¥ EX

E ® gomay

Question Number : 99
Correct: 2 Wrong : 1

When Ramlerishna NWission Vivelmand Ashram in Narayanpur was established -
Options :

Question Number : 99

Correct : 2 Wrong : 1

AT H TTHGE TH9 Terdeh e STPAH 1 ST el 55

Options :

www.upscstudymaterials.com



O % 1037
D % 1080

E # 1031

www.upscstudymaterials.com

Question Number : 100
Correct : 2 Wrong : 1

How much amount is given as grants to former for pump line extension is CG from 1.4.2014.
Options :

A % Rs 50,000/-

B. * Rs. 60,000/

C. ¥ Rs. 75,000/

D. * Rs. 80,000/-

E. * Rs 1,00,000/-

Question Number : 100
Correct: 2 Wrong : 1

TG o [Tl i Hid 00 A5 Teed ) o el 4.2014 & g foar =mar &
Options :

A % ¥50,000/-

B. % ¥ 40,000/

C. ¥ 75,000/

D. * %30,000/-

E % % 1.00,000/-

Aptitude Test
Number of Questions: 50

Question Number : 101
Correct: 2 Wrong : 1

Three jars &, B and C with their capacities in the ratio 2:3:4 are filled with a miture of acid and water. The ratio of acid to water in
A Band Cis 1:2, 2:3 and 5:1 respectively. The mixtures of three jars are emptied into another vessel. Percentage of acid in the
vessel is approzimately.

Options :

8, % 422

A
B. ¥ 578
Co*® 611
D. * §1.5
E * 652

Question Number : 101
Correct: 2 Wrong: 1

AT AT A, B 3T C T it # 2:3:4 W SO &, S0 SN O o TR0 | 9 ET 81 A, B 3T C H 30 ST 07T T wH
1:2, 2:3 3T 5:1 §1 54 SR o THRI0T @ U 3 ad o H SToT [G.a7 SITaT 51 o o [H0T 7 37T Wi o T ol &

Options :
N e 477

i www.upscstudymaterials.com



B ¥ 57

(]
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c. % 611

D *® 61
E % g5.

L ]

[ ]

Question Number : 102
Correct: 2 Wrong : 1

Two numbers are such that thewr product, sumn and difference are in the ratio 18:7:1. The product of these two munbers is
Options :
A %3
B. ¥ 11
C. ¥ 17
D. # 36
E % 54

Question Number : 102
Correct : 2 Wrong : 1

ST UTEhd HEATY 8 W & Teb 3-1epT TUTthel, T 3% 3f@X 18:7:1 & 3guTd # 81 g 3H1 G&73il @7 0w &

Options :
A % g
B. # 11
C.ow 07
D. % 35
E % 54

Question Number : 103
Correct: 2 Wrong : 1

Four natural munbers are such that when three of them are added at a time, the swums 180, 197, 208 and 222 are obtained. The
average of the numbers is

Options :

A Y ET(14)
B. ® 67(1/12)
C. ® 6301/4)
D. % 75(1/4)
E ¥ 757112

Question Number : 103
Correct: 2 Wrong : 1

= WTPHd TEATU 56 0T & 16 Ad 30 © o (-1 1 SEaT31l @1 ol 1S =10 aa T07 180,197,208 3T 222 WIH §id 51 SErall @
aaTE

Options :

A Y AT
B. % 67(1/12)
C. % 63(1/4)
D. ® 75(1/4)
E ® 75712

Question Number : 104 www.upscstudymaterials.com
uestion Numbper :



Correct: 2 Wrong: 1 q _
A person sells a table at a profit of 25% of the cust‘.’vil-\fglvtllﬁ)esggﬂll it %%?ua ‘S5 of the selling price, his profit would have

mcreased by (5% of the cost price plus rs. 100). The cost price (in rs) of the table is
Options :

A % 5000

B. * 7000

C. % 7500

D. ¥ 3000

E % 8500

Question Number : 104
Correct : 2 Wrong : 1

Tle i Uep U 1 Ieh 0 Hodf o 5% o1 O ofadT gl ATe I8 SE! e HodT 25% o eRTe) o] U¥ ol §1aT, F1 ST o1
(T qo T T 5%-+Rs. 100 ) STe g7 @ B @1 §rdy (Rs M) &

Options :

A % 6000
B. * 7000
C. % 7500
D. ¥ 3000
E. * 3500

Question Number : 105
Correct: 2 Wrong : 1

Entry fee in an exhibition per person was rs 100. Later on, this was reduced by x% resulting an increase in the daily sale by 20%,
and also increase in the daily number of wisitors by 60%. The wvalue of z is

Options :
A # 15
B. * 18
Co%®
D. ¥ 25

E # 30

Question Number : 105
Correct: 2 Wrong : 1

TR TSt H e e w1 Weldl o Rs100 81 a1g H, 36 Iweh H 2 @1 HT el 173 Teeh TIOTH Fele Wi i @ Jef # 20% W1 Tha
T i Te et ot T2 # 60% 1 Ty g9l x PIAM &

Options :

A %15
B. % 18
Co% 0
D. ¥ 25

E % 30

Question Number : 106

Correct : 2 Wrong : 1

A person can save only 20% of his mcome if his mcome increase by 23% and still he can save the same amount as before, the
percent increase in his expenditure is

Options :

A V3105 www.upscstudymaterials.com
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2
-3
L
L]

D ¥ 1

E % 1375

Question Number : 106

Correct: 2 Wrong : 1

IS ST AT 3T @ hared 20% BT =TT 81 Al Fed! 3T | 5% 1 Jleg, 511 & AT aa W a5 Ia41 &1 9= & a1 5
TSATT T Ul T, o1 39 Tl § g2 UiH 9T dieg &

Options :

¥ 3125

¥ g u

B.
C.
L.
E.

Question Number : 107
Correct: 2 Wrong : 1

One - third of a journey was cowvered at the speed of 20 lan/hour, one- fourth at 30 lanwhour and rest at the speed of 50 lanthour
The average speed (lanhour) for the whole journey was

Options :

oo

e Rk B B b
35003

35

#®
¥ 3
ks
_33
ks

Mmoo o

SESL PN
350U

Question Number : 107
Correct: 2 Wrong : 1

TeRelT ST T Ua-Ta g1 T 20 TeRei/eraT &1 =Tel §, U =Irems W 30 TeRA et & =Tel & 99T 8 977 50 TrriesT & =e & 79
e T HYuT AT o T S 2 (TeRAEeET) 9t

Options :

s B I %
33013

[ I T = R

35

E
®
®
2.3 N o

. 350U

2|

Question Number : 108
Correct : 2 Wrong : 1
The current of a stream runs 8 km/hour. A boat goes upstream 8 km and comes back to the starting point

2
in 2 g hours. The ratio of the time taken by the boatfor going upstream to thatfor going down stream

www.upscstudymaterials.com



E ¥ 51 :
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Question Number : 108
Correct : 2 Wrong : 1

et umr & warE 1 T s RAEET 81 U A9 RT & Fag & gfawd 8 AT St 3
mmmwzédﬁ#mmmmmﬁlmmm#m%gﬁwaﬁt
ORI & YA & Hemo H o TAT H HAUT &

Options :
A ¥ 52
B. * 103
Co* 154
D. % 152
E ¥ 51

Question Number : 109
Correct : 2 Wrong : 1

Worldng 8 hours a day, 90 persons can dig a trench 81 metre long, 8 metre wide and 2 metre desp in 8 days. Worldng 6 hours a
day, the number of persons that will be required to dig another trench 243 metre long, 4 metre wide, and 3 metre deep in 16 days,
15

Options :
A Y135
B. * 142
C. % 130
D. % 243
E. % 270

Question Number : 109
Correct : 2 Wrong : 1

Ui ieH 8 T D e U, 00 =i, 81 HIZT #lell, § Hiet =St #1C 2 Hie Mger Ue @1g @i § T # @ig qed & Uidia 6 oe @
T, %43 I Fvel, 4 HIEE SIST 92T 3 Hie Mgl UF 36 @18 &7 16 &1 § Figa & oy Fa- safeat §f smeasa g, 3967
T

Options :

A ¥ 135

B # 142

E # 170

Question Number : 110

Correct: 2 Wrong : 1

Two water taps together can fill a tanl in hiours. The tap of larger radius talees 4 hours less than the smaller one to fill the tanle
separately. The time in which the pipe with larger radiug can fill the tank alone is

Options :

. 4

S

B ¥ g

o
®
o

t
i
]

) www.upscstudymaterials.com
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Question Number : 110 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

ST OTAT & Aol Ueh {1 Toereht et Teht et 3 bt O WX Hepd 81 a2l =21 ool el @1 3ehel 51 36 depl @1 WA @& Tow @tel B amt
ol T ST TR e TH o11d 5l SIS [T aTeT Aol 37l 51 6 2o @1 od - a0 (et #) H 9 99471 5,95 &

Options :

A %4
B. ¥ 6
#

L

8
D #0
E # 10

Question Number : 111
Correct : 2 Wrong : 1

Three fair dice are thrown at the same time what is the probability the the three mumbers appearing on their tops can be arranged to
an arithimetic progression with comumnon differnece one?

Options :
A % 154
B. * 1/27
C. % 112
D. ¥ 1/0
E * 1/5

Question Number : 111
Correct: 2 Wrong : 1

T T ( fair) OTET @7 T8 ST S ST S0P a midemaT e 13798 S0 Sr I aTdl § 39aT ardea] 1 aeT 0w
AT A& T o © H e Tedd ey A7 T 57

Options :

A % 154

B ® 127

Co*® 112

D ¥ 10

E * 1/6

Question Number : 112
Correct: 2 Wrong: 1

If the first term of an arthmetic progression is 2 and the sumn of the first five terms 15 equal to one-fourth of the sum of the nesxt
five terms, then the sum of its first 30 terms is

Options :
A ® 2670
B #* 2610

Question Number : 112
Correct : 2 Wrong : 1

T TepelT Uer ST 25T &7 0H 0g 2 & 21T 390 0A U TS 1 @7 T, I8 3ol U=l 021 o 7 @7 Ua-T 1S &, 31 2T & 0gel
30Ut AT AN www.upscstudymaterials.com



Options :

A % 2670
B. # 2610
c. % 2520
D. % 2580
E ¥ 2550

www.upscstudymaterials.com

Question Number : 113
Correct: 2 Wrong: 1

The sum of first four terms of a geometric progression 1s 60 and anthmetic mean of the first and fourth terms is 18, The
arithmetic mean of second and third terms is

Options :

A 23 Ij

™
B % 10
ol A

D % 16
E ¥ 5p

Question Number : 113

Correct: 2 Wrong : 1

TeReiT TIUTIEIE 26T < WeTA ST UG o1 20T 60 & 371 Ugel T Si1er Ue &7 §ATae ATed 18 §1 Ot 31 S T8¢ UG o1 §ATT AT ¢
Options :

pn R g

A
B. ¥ 10
v 12
D. % 16
E % 50

Question Number : 114
Correct : 2 Wrong : 1

3 3
1 Fod ot
The sum to mfinity of the series 3 3 15
Options :
s, %15

A
B. ¥ 175
C. ¥ 005
D. %25
E. b 175

A

Question Number : 114
Correct: 2 Wrong : 1

3 3
1+ F—te it
Ay 3% 32

Options :

3 syl TRt AT T R

n %15

S

_ www.upscstudymaterials.com
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Question Number : 115
Correct : 2 Wrong : 1

YCat PG+ G+ Y0
15 equal to

Options :

50
§ T

50c4

A

B ¥

51
c ® Cs

51
6

D

49
- =

Question Number : 115
Correct: 2 Wrong: 1

4?(:4 s 49Ca+ a’lECE_I_ 4?(:3

Options :

50
& T Na

50
B ¥ Ca

51
x  Cs

TE &

I

[

51
6

D.

45
E % Cs

Question Number : 116
Correct : 2 Wrong : 1

-
If the equation 4" + (k+8) = +9=0 has only one solution, then the swm of the values of ki3
Options :

e

—
[

=g a ¥ e
¥ un x B 4
L}

Question Number : 116
Correct : 2 Wrong : 1 www.upscstudymaterials.com



AR G 4 + (1e+8) % +0=0 T el U BT BTG CE Iy BTG Ecom

Options :
A Y16
B. * .8
Co®0
D * 12
E * 20

Question Number : 117
Correct: 2 Wrong : 1

The roots of :{j + bz +c=0 are twice the roots |:|f:r:j + dx +b=0, where none of b, c and d is 0 the value |:|f|[t:ft1]|'j is
Options :

A %18

B. ® 1/16

C. ¥ 1/64

D % 16

E % 64

Question Number : 117
Correct: 2 Wrong : 1

i+ b +e=0 WA, i + dx +b=0 F A F T E, Tl bc M A B A FE 0 AF D (c/d)” FTAAE
Options :

A % 18

B. * 1/16

C. ¥ 164

D. * 16

E * 64

Question Number : 118
Correct : 2 Wrong : 1

Four-digit nunbers are formed by using the digits 1,2,3,4 (digits not repeated) and then listed from the smallest to largest. At
which place, from the beginning, will 3241 appear”?

Options :

A % 13th

B. ¥ 1l4th

C. * 15th

D. ¥ 16th

E # 17th

Question Number : 118
Correct : 2 Wrong : 1

3T 1, 2, 3, 4 W1 WA e §U 4 31T aTeil SEAT a1 AT & (37T &1 GoTed | A5 1) 3 e Ivg Head Tlel 681 § oot ged
TS TEAT o T H Gelldeg AT AT 1 ARFT # T T 0¥ 3241 WTe gy

Options :

A% 13T

B. ¥ 14ar

o % osar www.upscstudymaterials.com



D ¥ 16aT
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E % 17

Question Number : 119
Correct: 2 Wrong: 1

The expression |:p|+|q+1'j|3-133-c13-1'3 is equal to
Options :

A ® (prg) (e ()

2(p+a) (gHn) (r+p)

c v 3prg) (o) (r+p)

D. % 3(p-) (91) (r+p)

E % 2p-) () (r-p)

Question Number : 119

Correct : 2 Wrong : 1

SO () -p g e B
Options :

A ® (p+o) g+ (r+p)

Ap+) (gt (r+p)

C. ¥ 3(p+g) (qto) (r+p)

D. ¥ 3(p-g) (g-1) (r+p)

Ap-n) (pta) (r-p)

Question Number : 120
Correct: 2 Wrong : 1

The angle of elevation of the top of an unfinished tower at a point 120 m from its base, is EDD. How much (in m) must the tower
be raised so that the angle of elevation of its new top, at the same point, be two times of the earlier glevation?

Options :

A %403

B. ®¥ 60./3

c. v 3043

D. % 80(/3+1)
E. % 40(/3+1)

Question Number : 120
Correct: 2 Wrong : 1

3¢ T U HIA o TS T, Ier ST & 120 n"rfﬁqﬁmﬁﬁwﬁgwmaﬁwmuﬁ A & F=me (AT /) oAt o
EETE ST hi HIAR o A7 Tt o7 Fe! Teig 0 o= Iga B0 Ugel el 394 D0 6T G 517

Options :

A % 4043

B. ® 603

c. ¥ 303

D. % 80(/3+1)
E % 400/3+1)

Question Numbers : (121 to 125)
www.upscstudymaterials.com



otudy the following table and answer the questions . .
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Total population (of adults) of five cities A, B, C, D and E = 120 lakhs

City Percent of total population Patic of
of all cities Literate : Illiterate Male : Female
A 25 2:2 7:8
B 20 355 Sl
£ 10 3:1 3:1
D 15 4:5 e b
E 30 4:5 Hisd

Sub questions

Question Number : 121

Correct: 2 Wrong : 1

The numbers of literate persons (in lakhs) in city A is
Options :

i W 3|:|

A
B. ¥ 13
c % 16
D. % 14
E ¥ 12

Question Number : 122
Correct : 2 Wrong : 1

The ratio of the total number of males in cities B and D to that of famales in these cities is
Options :

A %2517

B ¥ 17:25

c. % 23

D # 32

E % 34

Question Number : 123

Correct : 2 Wrong : 1

Total population of cities, C and E 15 what percent greater than the population of city A7
Options :

(=)

Question Number : 124
Correct : 2 Wrong : 1

The ratio of total literate persons to total illiterate persons m all the cities together is
Options :

A %30

B. % 08

c. % 110

D. ¥ 011 www.upscstudymaterials.com




E % 1610

Question Number : 125

Correct: 2 Wrong : 1

Total famale population of cites & and E is double the total male population of cities
Options :

www.upscstudymaterials.com

A % AandB
B. ¥ Band C
C. ¥ CandD
D. ¥ DandE
E ® EandC

Question Numbers : (121 to 125)
T2 ATOTY T ST thienT 37T Ueg o 397 ST

9iel SIRT A, B,C, D HTE HI Fel FAAWEAT (TTEHT hI) =120 I

TR AT IR F T HuTS
SEEAr fcerd TTe ; e qEy : Afger
(Literate) : (Illiterate)
A 25 2:3 718
B 20 35 n:7
C 10 31 3:1
D 15 4:5 7:11
E 30 4:5 5:4

Sub questions
Question Number : 121
Correct: 2 Wrong: 1

T A T HT8 T & HEdT (A W 7
Options :

s % 3p

A
B. ¥ 18
c *® 16
D. % 14
E ¥ 12

Question Number : 122

Correct: 2 Wrong: 1

AT B 3 D H et THeTht QU1 &l HEAT 1 rpl AT H el THolhe HigelTall ol 6T & S &
Options :

A %1517

B. ¥ 17:25

C. % ]

23
D. % 32

E % 34

Question Number : 123
Correct: 2 Wrong : 1

ITRT C 3l E FAiheTent STTaedT, 9T A Hi STTaeam & fra- uidad e 37
Options :
A Y 6D

e
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Question Number : 124
Correct : 2 Wrong : 1

T AR o FATHATHT T SRR i 6T o7 [HOaT ekl ol Tl € S &

Options :

A ¥ g0

B. ¥ 03

c. %110

D. ¥ 011

E * 1610

Question Number : 125
Correct: 2 Wrong : 1

AT A ST E H AigeTell B Pt e, g At # qent & gl SaEar o1 g &

Options :

A % AandB
B. ®* Band C
C. ¥ CandD
D. ® DandE

E ¥ EandC

Question Numbers : (126 to 130)

study the following table and pie-chart and answer the given questions.

www.upscstudymaterials.com

University

Number of Students
(in thousand)

112

54

84

300

3125

Percentage of students studying various disciplines in all the universities

Sub questions
Question Number : 126

www.upscstudymaterials.com




Correct : 2 Wrong : 1 q )

. . .upscstudymaterials.co . . N .
The ratio of the mumnber of students studying computer 111%1]1?&1‘5%}; A HRC A students studying Economics in universities C is
Options :

A%

=
o

=]
L

D. # 010

E ¥ 100

Question Number : 127

Correct: 2 Wrong : 1

The average of the number of students, in thousand, studying science in wdversities A, B, Cand D 15
Options :

Question Number : 128
Correct : 2 Wrong : 1

It the ratio of male and female students of studying Arts is 2:3, then the munber of male students, in thousand, studying Arts inall
the universities together is

Options :
A%y

B. ¥ 54

c. % g1

D. % 108

E # 135

Question Number : 129
Correct : 2 Wrong : 1

The total number of students studying Law i universities B and C is what percent greater than the total Mumber of students
studying Arts in university E7

Options :

n % 42

A
B. ¥ 443
C. *® 465
D. ¥ 438
E % 388

Question Number : 130
Correct : 2 Wrong : 1

In the pie-chart, the sum of central angles is IDSD of the two sectors representing.
Options :

A ® Commerce and Science

B. * Science and Computers

C. ¥ Commerce and Economics

D. ¥ Arts and Economics

E ® Lawandc omputer

www.upscstudymaterials.com
Question Numbers : (126 to 130)



o FOTT 37T UTE-aTe ot ST STy 37T U & 390

www.upscstudymaterials.com — =

Rreafyerery A B C D E
freniatat &1 gEar 112 54 84 300 125
(FaR H)

Tt eafaeraat & RBffew At &1 3rcaas &= g [Furfeat & afaeraar

GRS

Sub questions
Question Number : 126
Correct : 2 Wrong : 1

TeraTeremer A H TICET T SMeI BE dlel TereTIr el HEdT @7 TeFalaemeral C H aefame @7 area=d @i ol e &
HET H S ¢

Options :

A%

B. ¥ 53

C *® g5

D. ¥ 010

E ¥ 100

Question Number : 127
Correct : 2 Wrong : 1

TEraTereTerat A, B, C 3T D # =T T S e oot et & et @7 aftad (g ) &
Options :
A Y1
B. ¥ 17
c. ® 15
D. % 12
E # 10

Question Number : 128
Correct : 2 Wrong : 1

AT AT T eI T ATet T2 31T AlgolT e TRIat i JEam ¥ 2:3 W ST &, a1 @t Taraierenaat § gl THA® ol @T
S T ATel o Tre AT &1 6T, g9 |, &

Options :

A %07

B. ¥ 54

c % 31

D % 18 www.upscstudymaterials.com



E * 135
Question Number : 129
Correct: 2 Wrong : 1

TemarfererTert B T C 0 TaIfer T are<rae e ailel el Tere it ol 6, TvariereTerd E § gt THehT sholl 1 S22z &t diel
Teren et &\ | fehd = nid e aTfere 27

Options :

www.upscstudymaterials.com

yo® 40

A
B. * 443
C. % 465
D. ¥ 438

E # g3

Question Number : 130
Correct: 2 Wrong : 1

e #, 3 =1 Beet ¥ e it @7 = 108° &, A T @ el @vd 8
Options :

A ¥ T T TEEE

B. ¥ B9 ot Frgaet

¢, ¥ aiitrea 3T amfares

D. ® e afie anfarsT

E * Tafe st srgeey

Question Numbers : (131 to 133)

Directions : Study the following iniormaion carsmiily @il sarsweer the questions' thai 1olow:

Eight friends are sitting around a circle facing the center. B is facing D who is third to the right of F. G 15 not an mmmediate
neighbor of either B or D A s third to the left of G and is facing C. C and E are not tmmediate neighbors of D.

Sub questions
Question Number : 131
Correct: 2 Wrong : 1

Who are the two persons sitting next to G7
Options :

A% AandE

B. ¥ Hand C

¢ * AandH

D * CandE

E * AandP

Question Number : 132
Correct: 2 Wrong : 1

Who 15 facing F?
Options :

AV H

B.®F

C®E

D *G

E #B

Question Number : 133
Correct : 2 Wrong : 1 www.upscstudymaterials.com



Who is third to the right of C7
Options :
A %D
B.*H
C * A

£

www.upscstudymaterials.com

D Y¥E
E #F

Question Numbers : (131 to 133)
T eI g Toiad ST U6 3% el 750 M0 0t & 369¢ o,

TS SIEd Uk g e IR AR gl AR G U S BB, DT e e U g AT R F sh g Hdtemr & G I a1 B @, 9D @ UdaA
ATAHE A, G o a0 HATERT § @ IERT g C & @A 2. C ol E, D & UdhaH a7lel § &1 &,

Sub questions

Question Number : 131

Correct: 2 Wrong: 1

G & @ # 3% 3 e e B
Options :

A % ASNE

B. ¥ HaltC

C. * AsH

D. % C3RE

E # A3NB

Question Number : 132
Correct: 2 Wrong : 1

F o |0 @1 =37 87
Options :

A YH

B.*F

C*E

D *G

E #B

Question Number : 133
Correct: 2 Wrong : 1
C & g & TR @ 27
Options :

A %D

B. * H

® A

D ¥E
E #F

L

Question Numbers : (134 to 137)

www.upscstudymaterials.com



Directions : Study the following mformation and answer the ques 1003 giv 1 below.
WWW. Upscstudymaterials.com

When fed with an input line of munbers, a machine rearranges them step by step according to certain rules. The following is an
llustration of input and rearrangement steps.

Input: 74, 32, 24, 02, 82, 44, 57, B8

atep [0 24, 74, 32, 02, 82, 44, 57, 88

Step II: 24, 32, 74, 92, 82, 44, 57, 88

Step IIT: 24, 32, 44, 74, 92, 82, 57, 88

Step IV: 24, 32, 44, 57,74, 02, 82, 88

Step Vo 24, 32,44, 57,02, 74, 82, B8

Step VI 24, 32, 44, 57, 02, 88, 74, 82

Step VII: 24, 32, 44, 57,02, 88, 82, 74

atep VII is the last step of rearrangement as the desired arrangsment is obtained.
As per the niles followed above, indicate your answer to each of the following questions.
Sub questions

Question Number : 134
Correct: 2 Wrong : 1

Which of the following will be step V' for the following mput?

Input: 77, 35, 89, 92, 27, 44, 83, 64

Options :

A % 27 35, 46,77, 89, 02, 83, 64
B. ® 27,35, 77,30, 02, 46, 33, 64
C. ¥ 27,35, 46, 64, 02,77, 89, 83
D. ¥ 27,35, 46, 64, 02, 89, 77, 83

E * None of these
Question Number : 135
Correct : 2 Wrong : 1

If following is the rearrangement i Step 111, which of the following was the mnput?

atep 1110 29, 32, 47, 58, 93,77, 63, 68

Options :

A ® 53 03 77,20, 68, 63, 47, 32
B. ® 03,77, 58, 29, 63, 68, 47, 32
c. ® 20,32, 68, 63, 03, 77, 47, 58

D. ¥ 53, 03,77, 20, 63, 47, 68, 32
E. * None of these

Question Number : 136
Correct : 2 Wrong : 1

If the input for the question is D1, 85, 27, 40, 58, 73, 37, 52 at which step would the following output be obtained?

Cutput: 27, 37,40, 52, 01, 85, 58,737
Options :

www.upscstudymaterials.com



A atep 111

www.upscstudymaterials.com
B. ¥ Step IV

atep W

D. ® Step VI

E *® Stepll

Question Number : 137

Correct: 2 Wrong: 1

If the mput 15 45, 53, 12, 74, 43, 25, 38, 61; which arrangement will be obtained m Step V7

Options :

A % 12,45 53, 74,43, 25, 38, 61
B. # 12,25, 38, 43, 74, 45, 53, 61
c. ¥ 12,25, 38, 43, 45, 53, 74, 61
D. # 74,61, 53,45, 43, 12, 25, 38

E. * MNone of these

Question Numbers : (134 to 137)
TR g T A 0d 3 el ey my wet & Iee 2

e o &g, e AEaralt & 3Aqe (FTee) & 97 o7 g & oTg, Uer et 3Iva =0T 3¢ 2’0, §F Wt & SR JHedaedd @edl &,
gAqe (TTeE) oflt qHetiaesT & SR @7 U I51ge0 Myieiad 6.

Tage (e 74, 32, 24, 02, 82, 44, 57, 88
TR 1 24, 74, 32, 02, 82, 44, 57, 88

TR IL: 24, 32, 74, 92, 82, 44, 57182

TR 11 24, 32, 44, 74, 92, 82, 57, 88

TR IV: 24, 32, 44, 57, 74, 02, 82, 88
TV 24, 32, 44, 57, 92, 74, 82, 88
TRV 24, 32, 44, 57, 92, 88, 74, 82

=T VL 24, 32, 44, 57, 92, 88, 82, 74

TR V] [T @ ATRECT =R0T &, i e ceeeT UTH 51 o 51d 1 5. SURRh e 1o T & e, g wede nEt mw
ST ST ST

Sub questions
Question Number : 134
Correct : 2 Wrong : 1

Tt e (ffee) & forg T # & i & o v g

R (Ffem): 77, 35, 80, 02, 27, 46, 83, 64

Options :

A % 2735 46,77, 809, 02, 83, 64
B. ¥ 27,35, 77, 89, 02, 46, 83, 64
c. ¥ 27,35, 46, 64, 92, 77, 89, 83

www.upscstudymaterials.com



D * 27, 35, 46, 64, 92, B9, 77, B3
E ¥ g0 9 arg 8!

Question Number : 135

Correct: 2 Wrong : 1

AT =0 111 & qedaey FgieEd &, a1 9 § § 49 i a7 27

www.upscstudymaterials.com

=0T 111 20, 32, 47, 58, 03, 77, 63, 68
Options :
A % 5303 77,10 63, 63,47, 32

B. ® 03,77, 58, 29, 63, 68, 47, 32

C. % 10 32 68, 63,03, 77,47, 58
D. ¥ 58,03, 77,20, 63, 47, 68, 32

E * gau g o A9t
Question Number : 136
Correct: 2 Wrong : 1

A weg @ o0 e (FHfew) & 01, 85, 27, 40, 58, 73, 37, 52

T e = o T anmaege wie TeRar s

ATIEYE: 27, 37, 49, 52, 01, 85, 58, 737
Options :

A % UL

B. ¥ o [V

C ® mmv

D. ¥ vl

E ® il

Question Number : 137
Correct : 2 Wrong : 1

e gz (FATee) 845, 53, 12, 74, 43, 25, 38, 61, 91 =R07 [V W 9 aTgeye Wi fera S
Options :
A ® 12,45 53,74, 43, 25, 38, 61

B. % 12,25, 38,43, 74, 45, 53, 61

C. ¥ 12,15, 38, 43, 45, 53, 74, 61
D. % 74 61,53, 45,43, 12,25, 38

E # za90 @ @1 78t

Question Number : 138
Correct: 2 Wrong : 1

In following question, a number series is given with one munber missing, which is indicated by a question marle. What would
come in place of the question mark?

7,15,32, 67,7, 281, 568
Options :
. BE www.upscstudymaterials.com



B. % 136
C. ¥ 138
D. % 205
E # 207

www.upscstudymaterials.com

Question Number : 138
Correct: 2 Wrong : 1

TR U |, Uer 376 AT o Tt g R U aEy T §, o we g | i 13T . 0 e o S0 O a1 37T S en?

7,15, 32, 67,7, 281, 568
Options :
A% 134
B. * 136
C. ¥ 138
D. % 205
E % 207

Question Number : 139
Correct : 2 Wrong : 1

In following question, a number series i given with one number missing, which is mdicated by a gquestion marle. What would
come in place of the question marle?

3,10, 15, 26,7, 50, 63
Options :
noowe

=9

B *

Lid

Lid
f ]

oow
D ¥
E #

Lid il
LS T s

[N]
(W]

Question Number : 139
Correct: 2 Wrong : 1

TR U o, Uer 376 A o7 7§ EH U a9y T §, T we g O 2Aar 3T . 0 g o S O a4 ST S en?

3,10, 15, 24,7, 50, 63
Options :
.,

i

-

L

Ll
]

Co®
D v
EW

il Lid
LI T =

[ ]
[N ]

Question Number : 140 www.upscstudymaterials.com



Correct: 2 Wrong: 1

. . _ .upscstudymaterials.com
What would come next in the following letter seriest P y

ABACBADCBAEDCBAFEDCEA
Options :
A% H
B. ¥
C.®B
D *F
E ®E

Question Number : 140
Correct: 2 Wrong : 1

et T FrgTatae Aoft & e e @ s A
ABACBADCBAEDCBAFEDCBA

Options :
A% H
B.YG
C.®B
D ®F
E *E

Question Number : 141
Correct : 2 Wrong : 1

The following questions contains four sets of mumbers out of which one does not belong to the group. The three mumbers in each
set are related to one another in someway, Findtheodd-one ont

Options :

A V12,2713
B. % 8 10,6
C. % 10, 26, 24

D *12.13.5

E. % None of these

Question Number : 141
Correct: 2 Wrong : 1

ﬁﬁﬁﬁﬁgﬁgﬁ, 3en! o T T (HE) & 00 | 0w 39 90 T A1 5. 5 U ST (H) & o 1 37 Rt 7 T avg | U
T T & A7 oo (fem) g1 39 Tga,

Options :

A V12,2713
B. % 8 10,6
C. % 10, 26, 24

D *12.13.5

E ® A0 @ ®IE A5

Question Number : 142
Correct: 2 Wrong : 1

The following questions contains four sets of munbers out of which one does not belong to the group. The three numbers in each
set are related to one another in some way. Find the odd one out.

Options : .
) www.upscstudymaterials.com
A %1077 35



B. ® 43,36, 29
C. ¥ 54,
D. * 26,39,
E * None of these

www.upscstudymaterials.com

e
[ B
-3
L=

":l
'_,'u
]

Question Number : 142

Correct: 2 Wrong : 1

T 0 B, 3T & = 999 (82) & o0 € 0% 39 90 97 961 5. 5¢ U9 9454 (8) & T1 7@ et 7 et avg 9 0w
U | WA &, A7 e (TeuH) 5T 39 g,

Options :

A % 10,77,

B. % 43,36, 20
C. ¥ 54, 42, 18
D. * 26,30, 52
E

. ® AU HE ARl

Question Numbers : (143 to 144)
Directions : Following questions are based on the five three digit munbers given below.
536, 427, 348, 647, 853

Sub questions
Question Number : 143
Correct: 2 Wrong : 1

If the first digit of each mumber 15 ncreased by 1 and the last digit decreased by 2 and their positions are interchanged and then the
mumbers are arranged in descending order, which mumber will appear in the middle after rearrangement?

Options :
A % 536
B. * 647
C. ¥ 427
D. % 348
E * 438
Question Number : 144

Correct: 2 Wrong : 1

If the positons of the first and second digits are interchanged and each of the first and the second digits are increased by 1 and
then arranged in ascending order, which will appear in the middle after rearrangement?

Options :
A % 647
B. % 427
C. % 534
D. ¥ 3438

E % 383

Question Numbers : (143 to 144)

e TraioaT wey oier o9 st oot S7ar UY SITeTiNd 7. 536, 427, 348, 647, 853
Sub questions

Question Number : 143

Correct: 2 Wrong : 1

ITer Weier 3767 o Ugel! ST 7 1 AE Toam = o e e | & 2 °eT a7 A0 3 390 207 @t 30 H aaal odr A 3T
TORC 37epT T TIed §U W H STAT T8 AT, o1 Helel €T 51 & &g aitel § @1 T 31 S

Options : www.upscstudymaterials.com



A ¥ 535

B. ® 647
c. ¥ 417
D. % 348
E % 4838
Question Number : 144
Correct: 2 Wrong: 1

T UgeT S JE T & T S0 H #5e T30 S0 S Ugeil o Qe qedisll # | Hedd # U | S T84T S0 3 a5 g @
H AT T2 AT, T Y ateT g @ e st H Wi T 87 ST

Options :

A % 647

B. ® 427

C. #3534

www.upscstudymaterials.com

D. ¥ 348
E # 333

Question Number : 145
Correct : 2 Wrong : 1

If 2 15 at the bottom, which number will be at the top ?

)\
\

Options :

Question Number : 145
Correct: 2 Wrong : 1

www.upscstudymaterials.com



It e 2 § a7 T I 9T S0E A0
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Options :

Question Number : 146
Correct : 2 Wrong : 1

In the following questions, the figure (marleed X)) on the left is folded to form a box Decide which of the boxes marked 1,2,3 and 4
can be formmed and choose your answer from the

3
1 2 5 1 6
5 1 6 e |3
5 |6 4 3 4 5

2 | 4 (1) (2) (3) (4)
alternatives. I: x‘]
Options :
A Y 2and3 only
B. # 1and3 oty

3 and 4 only
D. ® 2and4 only

E % 1,2and3 o1y

Question Number : 146
Correct: 2 Wrong : 1
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mggﬁ%qﬁmﬁfﬁ%mﬁmﬁ@&%@mgeﬁgfﬁmw%_' TTHNG, 1, 2, 3 3K 4 &7 Ha=

3
1 2 5 1 6
—T2 BE 3 | 1 |6 5 |2
2 | 4 (1) (2) (3) (4)

- (X)

Options :

AV T 2 a3
B. ® Tk 1 afiw 3
C. ® Tk 3 st
D. ® faf 2 afiv 4
E ® T 1, 2 a3

Question Number : 147
Correct: 2 Wrong : 1

In the following gquestions, the figurs (markeed 20-onths l=f 15 folded te, farp 2 box-Decide-which-of the boxes marked 1,2,3 and 4
can be formed and choose your answer from ifie

B IFE

alternatives.
Options :

A % 2and4 only

B. % 1,2and3 only
C. * Jand4 only
D. ¥ 23and 4 only

E % land3 oty

Question Number : 147
Correct : 2 Wrong : 1
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mggﬁ%qﬁmﬁfﬁ%mﬁmﬁ@&%@m%eﬁgfﬁmw%_' TTHNG, 1, 2, 3 3K 4 &7 Ha=

B 1F
A D A F =
z B A E B E B C B
E| B (1) (2) (3) (4)
e (X)

Options :

A % a1 a4

B. ¥ 1, 2 afv3
c. *® 3 a4

D. ¥ & 2, 3 3l 4
E % 1 o 3
Question Number : 148

Correct : 2 Wrong : 1

In the following gquestion,in three out of four figures element I is related to element IT in the same particular way. find out the figure
in which element I is not so related to element IL

SHITEo

(A) (B) {

A

) (D)

Options :
# 33 i

A A
B.*B
c¥c
D *D
E. # MNone of these

Question Number : 148
Correct: 2 Wrong : 1
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ToeTET ng #, o # ¥ 919 et #, 7ea [ 7o 11 § 0@

WWW., upscgoru ymate |aIs com
TE G rew F TEAT Ef.

O UIk|OIB ALY

raie & a8 ATepla Uga-g e aea [, aea 11§

II
(B) (C) (D)

[ i
Options :

"
i Fa®

B.* B
c v
D.*D
E % ot @ ot

Question Number : 149
Correct: 2 Wrong : 1

In the following gquestion,in three out of four figures element I 15 related to element IT in the same particular weay. find out the figure
in which element [ is not so related to element II

I e I I
v | 1it]zse] | i
1 | I  NVV\W | ¥ : ' | I
_ (A) (B) (C) (D)
Options :
AV A
B. *B
c®C
D.*D

E. #* None of these

Question Number : 149
Correct : 2 Wrong : 1

ToeET ng H, IR & 919 A@iaal #, 9oa | 7o [ § U 5 G 945 § Grared ¢ 95 AT Tealiay oar aed [, dear 1l &

HE’E‘IFW%IFI@HT@.
I I I
vion |1t isel ]
1 | 11 1 | 11 I | 11 1 | 11
{A) (B) (C) (D)
Options :
AV A
B. %8B
co®C

D ¥ D www.upscstudymaterials.com
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Question Number : 150

Correct : 2 Wrong : 1

In the following guestion,in three out of four figures element I is related to element II in the same particular way. find out the figure in which element I is not so related to
element II.

I I | I
| @ )| <@ S |
QI | | | |
I | I S N I | __1I I | 1
(A) (B) (©) (D)
Options :
A ® A
B.¥'B
C®cC
D *D
E. * MNone of these
Question Number : 150
Correct : 2 Wrong : 1
ToRET wr #/, a & & 919 angiaat §, Tea | dec 11 8 U 51 @16 94g & TreTad ¢ °g Shid Ugamag foad god [, Fed [ & O T9 Grae 7 t@dT1 5l
I I I I
(D) R @O
ON | RSN |
1 I 11 I I 11 I I i I I 11
(A) (B) (C) (D)

Options :

T
ak. k.

BY¥B
co®C
D.*¥D
E ® zan g org agf
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